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Complete each fact family

7 x _____ = 42

42 ÷____= _____	Write a story problem for 
	     3 x 7=

36 ÷ _____= 4	__________________________
_____ x _____= 36	__________________________
	__________________________

4 x _____ = 28	__________________________
28 ÷ ____= ____	__________________________
	__________________________
		__________________________

8 x _____= 48
48 ÷ ______= _____


[bookmark: _GoBack]Sean has 24 toy cars and he divides them equally into 3 boxes. How many cars does he have in each box? Show a number sentence or picture to explain your thinking.
